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2. Al Jga gall

Definition:
‘A ) Y sa 54l s the letter which comes on the sentence —which is its ‘4la’-

and turn it (in meaning) to ‘=<’ (infinitive); therefore these letters are called
‘4_1 _).A..AAJ\ —a 9 );j\,

311 (letters)
They are «&f b« gl ¢S Oy

ol Jgasall b Alal) aSa

The “4la’ of “0l”, “.5” and “ 5 is a “4l=d’ sentence and turns it (in meaning) to
and infinitive, added to the subject.

Example: “a5d 5a ) g juas o5 (and it is better for you to be patient) i.e. © s
WS e (S’

Example: “a5 L e 1506 SLS (50 that you don’t regret what you have lost)
fe. oSl e e oSl paal’

Example: “Gualis ) 518 51155 Gl 35 G’y (Much will the faithless wish that
they had been Muslims.) i.e. ‘Calus agd S

% The ‘Ala’ of ‘W’ is ‘Adxdll Alaall (verbal) and ‘Asawy! 4eall (equational sentence)
and it turns them (in meaning) to an infinitive added to the subject.

Example: “Cud ) Wy ()1 Agdle Cdla 13 (337 (When the earth became narrow

for them with [all] its expanse) i.e. ‘L)’



Example: “Ua &l Ls&3i 5 s3ally Jlasi5” (and He has enjoined me to
[maintain] the prayer and to [pay] the zakat as long as I live) i.e. ‘Ua (ol 523327,
The ‘4w’ of 0l is “4sanY! dleall” (equational sentence) and turns it (in

meaning) to the infinitive of the predicate added to its noun (subject).

Example: “s3laf 4 &l Sl (He supposes his wealth will make him
immortal!) i.e. ‘ol e ) sy’

Notes
1. The ‘4b=’ of the ‘A~ J »a 5<ll” never gets omitted.
2. ‘Y) J a5l has three differences from ‘2ol Jsa sall”:
e [t needs ‘e’ pronoun.
e It has i rab.

e It does not turn (in meaning) with its ‘4l=’ to an infinitive.

alsl)
1. Definition
A noun that is coined to signify a certain thing with no need to an indicator;
such as ‘e’ and Al

2. Divisions

‘ale” is of different types based on different criteria:
2-1. owiad) ?‘b 3§ gaddd) ‘49

‘ale” with regard to its meaning is either:



1. cuaddd) ale” that is coined to exclusively signify a specific particular thing.
Example: ‘e, ‘457, <Jal s’

2. ‘u«ial) ale’ that is coined to signify a specific concept in the mind that can apply
on every instance of it.

Example: “4elul’ for <aii’,

2-2. S jall g Jasel)

‘ale’ is of two type with regard to its wording:
1. ‘b’ (non-compound)
2. ‘S’ (compound) that is of three types:
A) ‘i) @S yall such as Al &l
B) ‘AbaY) S )’ such as ‘dilue’
C) ‘a3l @S 44l such as ‘<Sadxy’ and ‘4qsn’
# The beginning of ¢ Aflxay¥! S )l gets i’rab, according to the ‘Jslse” (effecters)
and its end always gets ‘>’ because of the ‘48Lxl’ (addition)

Example: “Cs 5 ¢l ) 14 < (Perish the hands of Abu Lahab, and perish he!)

‘el S Al g s pall e g g’ (not conjugate-able) () except when it is
ended by ‘4¢5’, in which it gets Kasra.

‘) oS Hall” gets ‘s paill Gl e YV (supposed i’rab)



